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All the 3s again

1x3=3
6x3 =18

2x3=6
7x3 =21

Say these to yourself a few times.

You should know all of the three times table by now.
3x3=9
8x3 =24

4x3 =12
O9x3 =127

5x3 =15
10x3 =30

Cover the three times table with a sheet of paper so you can’t see the numbers.

Werite the answers. Be as fast as you can, but get them right!
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I1x3=3
6x3 =18
Say these to yourself a few times.

2
7

All the 3s again
You should know all of the three times table by now.
x3=06 3x3=9 4x3=12
x3 =21 8x3 =124 9x3 =127

5x3
10x3

=15
=30

Cover the three times table with a sheet of paper so you can’t see the numbers.

Werite the answers. Be as fast as you can, but get them right!
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5 x 3= 15
7 x 3= 2
9 x 3 = 27
4 x 3= 12
6 x 3= 16
8 x 3 = 24
10 x 3 = 30
1 x 3 =

3 x 3 =

2 x 3 =

3 x 5=_15
3 x 1= 21
3 x 9= 27
3 x 4= 12
3 x 6 = 18
3 x 8= 24
3 x10 = 30
3 x 1 = %)
3 x 0=

3 x 2 = ©
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= 27
= 12
= 15
= 21
= 12

= 20
= 27
= 15
= 15
= 24
= 21

- 30
- 24

= 27
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